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109# 17,212 5509 2,507 9,196 2,500 239 9.6 2,261 186 134 52 20 82.8
110# 16,801 4,493 2,758 9,550 2,741 179 6.5 2,562 262 186 76 18 77.9
111# 16,598 5,008 1,951 9,639 1,972 166 8.4 1,806 157 110 47 17 80.9
6* 1,339 411 168 760 180 13 7.2 167 14 12 2 1 92.9
7" 1,313 427 147 739 149 16 107 133 8 5 3 3 1000
87 1,429 438 151 840 153 12 7.8 141 16 13 3 1 87.5
91 1,278 405 168 705 161 10 6.2 151 17 11 6 3 82.4
107 1,352 417 152 783 146 12 8.2 134 9 5 4 3 88.9
117 1,551 463 150 938 155 17 11.0 138 16 11 5 1 75.0
12* 1,457 453 128 876 136 12 8.8 124 8 5 3 — 62.5
112#1-67% 8,749 2,647 843 5,259 838 58 6.9 780 57 39 18 5 17.2
L b Y% 65 101 -201 105 -21.8 -33.3 {-1.2} -20.8 -31.3 -350 -21.7 -16.7  {-2.3}
1?2 1,159 355 80 124 79 7 8.9 72 9 5 4 2 77.8
27 1,514 503 153 858 144 7 4.9 137 14 8 6 2 71.4
37 1,833 537 171 1,125 174 13 7.5 161 10 6 4 — 60.0
47 M| 1,143 322 132 689 128 7 55 121 4 3 1 — 75.0
Hh? 1,704 500 171 1,033 180 12 6.7 168 11 10 1 1 100.0
6°* 1,396 430 136 830 133 12 9.0 121 9 7 2 — 77.8
B HENY -181 -140 -205 -19.7 -26.1 — {2.3} -28.0 -18.2 -30.0 100.0 -100.0 {-22.2}
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